/DIIRB

3UDFRZQLN SRINGDG  GU 6WDFKXUD %RJIXVADZVND $QQD 7\J

7N 7N 7N 7N
- -RQUXIDFIH GU GIDFKXUD
T %RJIXVIDZVND $QQD - V]IDEFHQIH VAXFKX 0Z _V]IDEFHQIH VAXFKX 0Z _V]IDEFHQIH VAXFKX 0Z
= GU BIDFKXUD GU BIDFKXUD GU BIDFKXUD
= %RJIXVIDZVND $QQD %RIXVIDZVND $QQD %RIXVIDZVND $QQD
© o 7/ 033/ 7/ 033/
=1 DICFLD RQUQH NJRGQLH DICFLD RQUQH JUXSD DICFLD RQUQH JUXSD
& GDID
n
=
n
7N 7N 7N
7N
A - V]IDEFHQLH VAXFKX (DE _V]IDFHQIH VAXFKX 0Z 3U]\JRIRZDQIH SUDF\
3 -RQUXIIDFI GU BIDFKXUD GU BIDFKXUD (FHQFIDFNIHI VHP  GU
x Gl %RIXVIDZVND $QQD %RIXVIDZVND $QQD BIDFKXUD %RIXVIDZVND
2 GIDFKXUD 7/ 033/ 7/ 033/ $QD (O 7/
%RIXVIDZYV DICFID RQIQH *583$ DICFID RQIQH *583$ DICFID RQLQH INJRGQH
ND $QQD GDID
—_
o3
=
%)
o
©




